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G 100 31651 @ 371 7 &7 |
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General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks forquestions are indicated against each question.

(iii) Question number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each-They are required to be answered in one sentence.

(iv) Question number 6 — 8 and 21 — 23 are short answer questions carrying 3 marks

each. Answers to them should not normally exceed 60 words each.

(v)  Question number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Question number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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SECTION - A

.  3TcUshlicdeh 3cTed Hodd shl TIHTHT SIfSIT | 1

Define short-run production function.

2. SO Shal3AT AR Tashdlail ol SS! T&A1 8l & : (F&! [aehed 0 1
(A) ohaet Ui ST |
(B) <hact UshIIYehIIcHeh TIqAIar H
(C) (A) 3R (B)GHT A
(D) 3STcHTeehR |
There are large number of buyers and sellers 1n : (choose the correct alternative)
(A) Pertect competition only
(B) Monopolistic competition only
(C) Bothin (A) and (B)
(D) Oligopoly

3. Taaw i shiaa 9 =& ST g 7 1

What 1s meant by price floor ?

4. Tordll 9% Sl HMET 9% s GHI AT & 7 1

When 1s a good considered a normal good ?

5. el M (3ME)-TR, Q ITe THT 37N ‘n’ $hIg ohl AT &1, dl HHd TEmd I8
gl (TE Taehed gHU)
(A) ®Had TR — TR,
. TR Y Y&
(B) *hdd Q ¥ e
(C) (A) IR (B) gHI
(D) 3IWRh 4§ i Hi T8 1

Let TR be total revenue, Q be quantity of output, and ‘n’ the number of units, then
marginal revenue equals : (choose the correct alternative)

(A) TR —TR__ only
Change in TR

(B) Change in Q only

(C) Both (A) and (B)

(D) None of the above
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Teh T eIeh 3cdTe GHTEAT ash 3Tadd (concave) &1 il & ? THATST | 3

Why 1s a typical production possibility curve concave ? Explain

hea [T FHET “Tehdeh TIU IcqTe TohaT ST FHETST |
AT
he I THET “hy 3cq1GH TohdT I THSATST |

Explain the central problem “for whom to produce”.
OR

Explain the central problem “how to produce”.

ST& Teh o hl ehidd T 10 Jid 3ohs & TR T 7 Uid $h1g &I SATdl &, dl $&ehl AT 100
3PS O gL 160 IhTS Bl AT 2 | 3Hh! ShiFd HFT I o1 THha Shifarg | 3

When price of a good falls from X 10 per unit to X 7 per unit, quantity demanded of the
oood rises from 100 to 160 units. Calculate 1ts price elasticity of demand.

“gTd ATTa 3T HETd A (FEy )7 1Y g 3cq1ed ol Sded S 9arst | 39 I

% I ST GITT |
shiTd IqTeA el ANTd e
) (3TS) )
6 l 10 10
6 2 15 5
6 3 21 6
6 4 28 7
6 5 37 9
HAYQT

qerdt STUTAl b 1 o 19 TLOT hl T&EH ShINT | HIOT GIT |

qiEd! 3T7Td
(3T3)

P 31
(35T3)

1

3

7

10

12

hn B (L |

11
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Identity the equilibrium level of output using “marginal cost and marginal revenue”™
approach. Give reasons for your answer.

Price Output Total cost
Marginal cost
() (units) ()
6 1 10 10
6 2 15 S
6 3 21 6
6 4 28 7
6 S 37 Y
OR
Identity the three phases of the law of variable proportions. Give reasons.
Variable input Total product
(units) (units)
| 3
2 7
3 10
4 12
S 11
10. T %] <hl Yfd shl T9TIId hid Il Tehral IR ShTeh] ohl SATEAT ST | 4

Explain any four factors that affect the supply of a good.

1. & 89 %&d g 1o Ueh YUI AN SR | TIshd1adl i 91 T&AT Bl &, al 398 SN T

T IR ISdl & ? AT hiTolU | 4

What difference does 1t make to the market when we say that there are large number of

sellers 1n a perfectly competitive market ? Explain
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2. GHHARU F[ Toh IHYHM I3 () S 9 QU A= ol AR @ddl AR (F) 3 (convex)
BT 2 | 6

L]

AT TTAEATI 2T hl IO 3T UTidH{eeh ITFEHM sk 9T 39k SqdgR IHeTSy | Ush
TEITcHh 3CTELT ST | $85ch S8R <hl shIUT T 13U |

Explain why 1s an indifference curve (a) downward sloping from left to right and

(b) convex.
OR

Explain the concept of Marginal Rate of Substitution and 1ts behaviour along the
typical indifference curve. Give a numerical example. Also give reason for its

behaviour.

13.  @deH SN ASigl @ % 14,000 Fid ATE B | 36 hH HHY T Gl =AqH TGl shi R0
Z 18,000 Ifa "8 L et & | 39 Huig o giomET it s shifsie | @i shl S=41

hITT | 6

The equilibrivm market wage rate 1s < 14,000 per month. The government finding it
low fixes minimum wage rate at X 18,000 per month. Examine the implications of this

decision. Use.diagram.

hI GIEI U o ToTq T34 §&AT 13 o M W

For the blind candidates only in lieu of Q. No. 13

=[ITH ASigll & o Fdo SR ASigl & | e Y shid o TRUMAT ohl ST
<hITSTY | Tsh TEATcHeh 3GTELUT <1 ST ShIfST |

Explain the implications of fixing minimum wage rate higher than equilibrium market

wage rate. Use a numerical example.
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14. Ueh Hich JoEl HaT IE HLAT & | SHHI I8 ofch © IUN el @Gdl g | 98 ] & Felrdl
2 | 98 ThR hl dTibeh A58y B ot <d1 2 | 398 e Y81 ST Hehd et T¥ AN
3R 3aAad AN gd18U | 3794 3T oh T ShRUT ST | 6

A person starts a taxi service. The taxi 1s financed by a bank. He himself drives the
taxi. He also pays annual license fees to government. What are the explicit and

implicit costs directly 1dentifiable 1n 1t ? Give reasons for your answer.

15. T IUURHT hadl G a3l X 3T Y T SUYFT Hdl & | ITAAAT [aeTsoT o g STHRRI
G hl ITd THSATST | 6

A consumer consumes only two goods X and Y. Explain the conditions of consumer’s

equilibrium using utility analysis.

Qug — 9
SECTION - B
16. T=ICTREA B & I 81 AIIL HL g ? (Hal [dehed FHT) 1
(A) TTH
(B) I L
(C) HMT e
(D) 3UEH

Which one of the following 1s an indirect tax ? (choose the correct alternative)

(A) Profit Tax
(B) Wealth Tax
(C) Customs duty

(D) Gaft Tax
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17. EhRI ST H ST TITHAT hl qiedTyT gieTe | 1

Define capital receipts in a government budget.

18. YN T T&d Tsh YR higH! Ty § TRId T il § Fa¥ il & | YRd o JaH
o WA H & TiHeH Gol 1ohdT a1 & : (F&T Toehed ) 1

(A) =T @Id o shise (credit) 98

(B) <Te] @Id o Slae (debit) &1 H
(C) YSTHTd WTd % shise (credit) &1 |
(D) YSiHTd WTd @ Sfeid (debit) 91 1

An Indian company located in India invests in a company located abroad. This
transaction 1s entered 1n India’s balance of payments account on : (choose the correct
alternative)

(A) credit side of current account
(B) debait side of current account
(C) credit side of capital account

(D) debat side of capital account

19. T=leTRgd Sevar @ @lid! Tt avqu 31idH a&qU hadTdl & : (F&! Taehed giHu) 1
(A) AR hl TS B
(B) WH T THa3 &q
(C) (A)TT (B) M
(D) YU H g it T

Goods purchased for the following purpose are final goods : (choose the correct

alternative)

(A) For satisfaction of wants
(B) For investment in firm
(C) Both (A) and (B)

(D) None of the above
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20. dTEdich Hehel Te] 3cUTG ¥ T AU 8 ? 1

What 1s meant by real gross domestic product ?

21, HHTd 9T Ygfa 3R HHTd = Jgid | 1 ST BT 8 ? gFl o S T HEY 8 7 3
SR
GHY AT E 1 HWA 8 7 3ok HEeh §1sy |

What 1s the difference between marginal propensity to consume and marginal
propensity to save ? What 1s the relation between the two ?

OR
What 1s meant by aggregate demand ? State 1ts components.

22. hIUT ¢l FATSY fob HHTTRI o T TP AT HIYd IHT 1 SHG8R (ehdT I1dT & : 3
(i) S gRI 319 STHThTI3A! ol TS o1 YA |
(i) R G Ig AT U9 W =Y |
(iii) R G I gRI 3911 o dc T Y |

G1ving reason state how the following are treated 1in estimation of national income :

(1) Payment of interest by banks to its depositors.
(1) Expenditure on old age pensions by government.

(111) Expenditure on engine oil by car service station.

23. % 400 IS = Afafta a3 & d TEF 31 ° T 1000 HUS i gig BNl 7 | Fawr 1o
o Bl ket hl U | 3

National imcome increases by I 1000 crore due to an additional investment of I 400
crores. Calculate the value of investment multiplier.

24, HH SINC ¢ H IS o IUFNT W Jidae 7 11 SITd1 8 | $6 () Fehol Be] 3741 37X
(@) SHedT0 T USH dTel IHTE! ehl IR ShifoT | 4

AT

TH A S8 I9TT (FRUTTcHS 181 ST & A b Shed 0] U 9T YN JSdT @ ? Teh
JCTETUT Tohl ST <hIfNTT |

Suppose a ban 1s imposed on consumption of liquor 1n the country. Examine 1ts effects
on (a) gross domestic product and (b) welfare.

OR
How do the negative externalities affect the welfare of the people ? Explain by taking
an example.
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25.

26.

2.

28.

S8/2

g Taleres Tiera MY 3rguTd 20 Sfderd 8 3R 98 S SHIE T 5000 &, a1 GZT FH hl
TishT HHEATST | 4

If legal reserve ratio 1s 20 percent and new bank deposits X 5000, explain the process

of money creation by the commercial banks.

a1 Yfd 8 i H “seb gU sl YfHeh! 9HTET | 4

Explain the role of bank rate in decreasing money supply.

TR TS @1 § 9 & TNERT 1 3N i 36T He o9 9 IgH hidl 7 |
LRI 912 G TR <hiH U1 3£ GU i I T hL &l § I hd ? HATST | 6

JRAAT

AU FThR] Sule g1 3TT1eeh TR{erur <h1 3893 vl UTH ThaT ST Hehdl & 7

Government provides essential items of food grains almost free to the tamilies below
the poverty line. Which objective the government i1s trying to fulfil through the

government budget and how ? Explain.
OR

Explain how the economic stabilization objective can be fulfilled through the

government budget.

fer (fFa) fafama et 3t a=hieft (F=) fafim et & &= Ye e | fe fafam e TR
2 dl 39 A1 3T 3T T IS STl U shl SRS shIfNU | 6

Distinguish between the fixed exchange rate and the floating exchange rate. If

exchange rate falls, explain its eftects on exports and imports.
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29. ‘S9d AR AN 91 g0 TP 3™ o e &l ol HYURU GHSST | {@ie 1 T3
$IST | T8 ot THeTsy fob Jfe s=a ey 9 3Afess &1 a1 o= g9 8 | 6

Explain the determination of equilibrium level of national income using ‘saving and

investment’ approach. Use diagram. Also explain the effects 1f saving 1s greater than
Investment.

hadl g¥aM TSI o ToTT I &A1 29 & WH W

For blind candidates only in lieu of Q. No. 29.

quy H1T 3R T9U gid 91 9 THA 3 T Ao T YR i hl g=ad 37 a9 {9ty
UTH <hiITSU | FHSTST =T BT T S=d a9 & 3 a7 | 6

Derive saving and investment approach from aggregate demand and aggregate supply

approach for determination of equilibrium level of national income. Explain what
happens 1f saving 1s greater than investment.

30. () TSR ShiAd T Eehed <311 Ic4Te 9T (W) Froet v s st s afisee s : 6

R HTS)
(i) 1y feve =i fHaet =Te] Tl (-) 10
(i1) 3T=Ied it Sl ST 70
(ii1) L= FITdl b1 Toisa 31 500
(iv) 3ATToh TR 20
(V) ISR g TSR FLETT 3T9TCH 100
(Vi) T SR 300
(vii)  wSigll T e 600
(vii))  TTE 120
(ix)  forcer =t Haa Rk 3 30
(%) TeRTT 30
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Calculate (a) Gross Domestic Product at Market Price and (b) Net National Disposable

Income :
(X Crore)
(1) Net current transfers to the rest of the world (—) 10
(11) Consumption of fixed capital 70
(111) Mixed income of self-employed 500
(1v) Subsidies 20
(V) Social security contributions by employers 100
(v1) Operating surplus 300
(vi1) Wages and salaries 600
(vii1) Indirect tax 120
(1x) Net factor income to abroad 30
(X) Rent 30
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